GHP42

1

PLATINU_M\

HANDS-FREE BABY GATE

OWNER’S MANUAL
®

il


https://manuals.plus/m/bef1ac3e8b2fc07d58e96970a85efdc0978ede982b6019c391fc6ab848dcbf2c

TABLE OF CONTENTS
o BEFORE YOU BEGIN........cccoimiimmmiireminnesinneasnneaanes




®

BEFORE YOU BEGIN

Keep this instruction sheet for future reference, as it contains
important information. Discontinue the use of the gate if it
becomes damaged, broken, or disassembled.

Adult assembly and setup is required to mount the gate and
remote, and install batteries.

Tools required for hardware installation:
Electric drill, 3/16"(4,76 mm) drill bit, hammer and Phillips
screwdriver (tools not included)

Tools required for clamp installation:
Phillips screwdriver (not included); and clamp tool (included)

Tools recommended, but not included:
Pencil, tape measure and level

Remote requires two AA (LR6) alkaline batteries (included).

Gate requires three AA (LR6) alkaline batteries (included).

To clean, wipe with a damp cloth.
Do not immerse.

A WARNING

Children have died or been seriously injured when gates are
not securely installed.

* ALWAYS install and use gate as directed using all required parts.
» STOP using when a child can climb over or dislodge the gate.

* NEVER use to keep child away from pool.




PARTS

[ |

2 inch 4 inch 6 inch
Extender Extender Extender

€ 23

Remote Remote ]]

Mount
Clamps
*
Gate Mounting Gate Bracket Clamp
Brackets Brackets Covers Tool

e

x 10 B ——=1DF%:
M3.5 x 15 mm Screw M4 x 30 mm Screw 7,6 mm x 25,4 mm
Wall Anchor




®

CHECK THE LOCATION FOR THE GATE

Measure the width
of the opening
where the gate will
be installed.

The width of the
opening should
be no less than
30" (76,2 cm) and
no greater than
42" (106,7 cm).

If using clamps,
also measure the
thickness of the
wall, doorway or
newel post.

The thickness of the
wall/doorway/newel
post should be no less
than 43&” (111,125 mm)
and no greater than
6%” (161,925 mm).

__‘"q%»-e%» J-

If installing near a
stairway, you can
use clamps on the
newel post and
fasteners on the
wall.

Clamps should
not be used on
round newel
posts.




®

CHECK THE LOCATION FOR THE GATE

If attaching at the top
of stairs, measure the
distance from the first
step to the gate.

The distance from the
first step to the gate
should be at least two
inches (5,1 cm) or more.

Qe

—

If using fasteners
to mount, check
to see if there is
a stud in the wall.

Drywall +¢---- oo

\

When fastening to a stud
or if fastening to wood,
you should not pre-drill
holes or use the wall
anchors.

%




It's assembly time!
Continue reading
or scan to watch

a step-by-step
assembly &
installation video.

fisher-price.com/assembly/GHP42



®

SIZE THE GATE

This gate fits in

sosisiton M 5
<

to 42" (106,7
cm). Use each
gate extender
alone or in
combination.
See below!
N
SHUISHE
A"
SIS
SNIRZ2
o] O_1 I
—— Fits 30" - 312" —— 2" 4~ 6"
(76,2 cm - 79,4 cm) 51cm 10,2 cm 15,2 cm
opening
T I T
h 1
I~ Fits 312" - 33%" — — Fits 33" - 357" — —Fits 35%" - 374" —
(79,4 cm - 84,5 cm) (84,5 cm - 89,5 cm) (89,5 cm - 94,6 cm)
opening opening opening
2" 6~ 4~ 6" 4~ 2" 6~
| | | | || |
o o "H [
——Fits 37" - 394" — —— Fits 39%" - 41" —— —— Fits 41%4" - 42" —
(94,6 cm - 99,7 cm) (99,7 cm - 104,8 cm) (104,8 cm - 106,7 cm)
opening opening opening

o

®




ASSEMBLE THE GATE

If necessary, add

extenders to

AR\
=\

N \
W ANR

@%\V%ﬁ : — NN a,w

ARSI EIV&

sf&%@v\?ﬁ W\\\%mw;@wwﬂ
) \ V‘JJ N7 )\
e Mﬂ/ﬂWfA.A/\\ﬂWldJAwmla
g.m 0} 6!\




ASSEMBLE THE GATE

~,
\\

emmm————
s,

R
WSNGE.
\/
\ &'¢Vq\¢

—

e ——

mounting bracket
down to fit to the
side of the gate.

Rotate the

x1

(e

M3.5 x 15 mm Screw

e




ASSEMBLE THE GATE

E\

® ‘.g .\//M
\ «ﬂ/)/fv@n
/ ‘ﬁ@@Lﬂ-
MG
MEAMY

A N =

-
e
.

~,
N,
N,

emmcma.
-,
-
~

£

()] \
vEO0Z
h..msa ..n_u.e
25i: <5
Sofo 52
+ o+ :
2£53 O = 0
o -£0 2
OB Lo 252
25382 it
..hLdCS ..qmuwe
4+~ o O -
— C = - : O.A|u
L o0 £35e




ASSEMBLE THE GATE

®

(o x 1

M3.5 x 15 mm Screw

If you are using clamps to install the gate, proceed
- to page 13.

_E& |If you are using fasteners to install the gate, proceed
to page 17.

dy e

If you are installing near a stairway with a
newel post, proceed to page 24.

o

®




®

GATE CLAMP INSTALLATION

Fit the clamps to
the gate brackets.

Note: Make sure
to fit the longer
clamps onto the
bottom end of the
gate brackets.

P e 5 1B

e —=

=

N
[ T T 1

o

(o x 8

M3.5 x 15 mm Screw

----------- g
.......... ()
LT
[
o
‘ Fany
] Jeeeafcuaaa. @]
2o —




®

GATE CLAMP INSTALLATION

Fit the clamps to the
doorway (or wall or
newel post).
Important: If installing
in an opening with a
door, make sure the
button faces away
from the door.

=

)

\

Button  Door

Fit the clamps to the
doorway (or wall or
newel post).
Important: If installing
in an opening with a
door, make sure the
button faces away
from the door.

oy
ow"ﬁ

M

/

Button  Door

© 9




®

GATE CLAMP INSTALLATION

Using a level, check % \

that both gate
brackets are level.

— | |
L
)
B R / e
Using the clamp \
tool, tighten all four -

clamps so the gate ]
brackets are secure
to both sides of the
doorway or newel
posts.




®

GATE CLAMP INSTALLATION

Slide the gate into —
the gate brackets. _ :

Check to be sure % \

the gate is secure.
Push the gate
where indicated

by the arrows. The
gate should remain
securely attached.




®

GATE FASTENER INSTALLATION

(s x 8

M3.5 x 15 mm Screw

<
<

- e
n - -

Determine where
you want to install

the gate.

Using a tape 0
measure, measure =
the distance to the D

end of the wall. o




®

GATE FASTENER INSTALLATION

Place the gate
bracket against
the wall with the
bottom end on 0
the floor. Using () <
a level, check to {
be sure the gate
bracket is level.

o

Using a pencil, make
three marks through
the screw holes.

OU{IB




®

GATE FASTENER INSTALLATION

Note: If you are
attaching to a stud
or into wood, you do
not need to follow
this step. Proceed to
step 7.

Using a 3/16" (4,76
mm) drill bit, drill
one hole through
each pencil mark you
made on the wall.

k) LT P

Fit a wall anchor
into each of the
drilled holes.

Tap each wall
anchor lightly with
a hammer until the
ends of each wall
anchor are even
with the surface of
the wall.

E==m x3

i T S

i = S




®

GATE FASTENER INSTALLATION

Insert a screw into
each screw hole and
tighten with a Phillips
screwdriver. Do not
over-tighten.

ou{!’?

LT —

R

ANV

Ay n

M4 x 30 mm Screw

Using a tape
measure, make
sure the distance
to the end of the
wall matches the
measurement from

the first gate bracket.

—=




®

GATE FASTENER INSTALLATION

Place the gate
bracket against
the wall with the
bottom end on
the floor. Using
a level, check to
be sure the gate
bracket is level.

Using a pencil, make
three marks through
the screw holes.

—




®

GATE FASTENER INSTALLATION

Note: If you are
attaching to a stud
or into wood, you
do not need to
follow this step.
Proceed to step 13.

Using a 3/16"
(4,76 mm) drill
bit, drill one hole
through each
pencil mark you
made on the wall.

=P

Fit a wall anchor
into each of the
drilled holes.

Tap each wall
anchor lightly with
a hammer until the
ends of each wall
anchor are even
with the surface of
the wall.

ceem =P

E==m x3




®

GATE FASTENER INSTALLATION

AVARINAAAANY X3

'm\\'

m

N

M4 x 30 mm Screw

Slide the gate into n .
the gate brackets. | |

Y4 Ve dlls

Check to be sure

the gate is secure.
Push the gate
where indicated
by the arrows. The

gate should remain
securely attached.

\ )
—
nl™




®

GATE STAIRWAY INSTALLATION

If attaching at the top of stairs,
measure the distance from the first

step to the gate. (:]

The distance from the first step

to the gate should be at least two
inches (5,1 cm) or more.

T
\ /

n

—

Using a level,
check that the gate
bracket is level.
0
®§g

2 1

124/

®




®

GATE STAIRWAY INSTALLATION

Place the gate bracket to

the wall and flat on

the floor.

Using a pencil, make

three marks through the

screw holes. |
D
St -=——m

ST ————

’\
EA

Note: If you are
attaching to a stud in a
wall or into wood, you
do not need to follow
this step. Proceed to
step 6. — 1

Using a 3/16" (4,76 mm)
drill bit, drill one hole r—
through each pencil =
mark you made on o —
the wall. i

|
———
E EESSSSS—]
(tm——




®

GATE STAIRWAY INSTALLATION

Fit a wall anchor
into each of the % X3

drilled holes.

Tap each wall
anchor lightly with %

a hammer until the
ends of each wall
anchor are even
with the surface of B
the wall. =
L L= S,
e
@“mt---‘
B \/

AN e

M4 x 30 mm Screw

=4




®

GATE STAIRWAY INSTALLATION

Fit the clamps to the
newel post.

Using the clamp
tool, tighten both
clamps so that
the gate bracket
is secure to the
newel post.




®

GATE STAIRWAY INSTALLATION

Slide the gate into the
gate brackets. = T

D) -

9 i’

Check to be sure
the gate is secure.
Push the gate
where indicated

by the arrows. The
gate should remain
securely attached.

>

.
1

L0
1

T T 111
1




®

REMOTE FASTENER INSTALLATION

The remote
should be =T
installed in JE— 1<

a place most
convenient to
access from
either side of

the gate (e.g.,
door jamb). @E/ 1
Place the remote . ﬁ}JfC

mount to the JHE’/F °
door jamb. el

Using a pencil,
make two marks
through the
screw holes.

1

Note: If you are
attaching to

a stud or into
wood, you do
not need to
follow this step.
Proceed to

step 4. J

Using a 3/16" (4,76 mm)
drill bit, drill one hole gl
through each pencil mark
you made on door jamb.

i
|

N
\,
|




®

REMOTE FASTENER INSTALLATION

Fit a wall anchor
into each of the
drilled holes.
Tap each wall
anchor lightly
with a hammer
until the ends of
each wall anchor
are even with
the surface of
the door jamb.

E==m x2

---w

\X

Insert a screw into
each screw hole

and tighten with

a Phillips screwdriver.
Do not over-tighten.

INNANAARANARNANA

M4 x 30 mm Scr

nmy

ew




®

REMOTE FASTENER INSTALLATION

Slide the remote
down onto the
mount.

o
— |




®

REMOTE ADHESIVE INSTALLATION

Before applying
adhesive strip, make
sure the wall surface
is clean and dry. If
cleaning is necessary,
gently wipe with
isopropy! rubbing ©
alcohol. Do not use
household cleaners.

Remove the liner
from one side of the
adhesive strip and
apply sticky side

to back of remote ©
mount as shown. Make
sure the strip tab is
accessible for future
removal.

The remote should
be installed in

a place most a@
convenient to

access from either
side of the gate
(e.g., door jamb).
Remove the liner
from the other side
of the adhesive strip
and press remote
mount firmly against
the door jamb for
30 seconds.

Then, wait 1 hour
before proceeding
to step 3.




®

REMOTE ADHESIVE INSTALLATION

Slide the remote rl
down onto the
mount.

EA il

To remove the remote mount
from the wall entirely:

1. NEVER pull mount
towards you.

2. Hold mount gently to
prevent it from snapping
fingers. DO NOT press
against wall.

3. Grab tab on adhesive strip
and SLOWLY STRETCH
STRAIGHT DOWN
ALONG WALL AT LEAST
12 INCHES 30,5 cm until
mount and strip release.




®

INSTALL BATTERIES

Loosen the screws in the battery

Use alkaline batteries for compartment doors.

longer battery life. Insert two AA (LR6) alkaline

batteries into the remote and
three AA (LR6) alkaline batteries
into the gate.
Replace the battery compartment
doors and tighten the screws.

If the gate or remote do not seem to work or work erratically:

- Check to be sure the gate has power by activating the
manual latch.

«Remove and reinstall the batteries.

«Check to see if the light on the remote turns on when
you press the button. If it does not, it’s time to replace
the batteries!

If the remote does not seem to work after replacing the

batteries, it may need to be paired with the gate.

«Remove batteries from both the gate and remote.

- While holding the remote button in, slide the button down
to the bottom and install the batteries.

- Open the gate.

- While the gate is open, install the gate batteries.

- If pairing is successful, a sound will play and the lights will

turn off.

®




®

OPEN THE GATE WITH REMOTE

© First, press the button in and
the remote will illuminate red.

©® While holding the button in,
slide the button down to the
bottom. The remote and gate
will illuminate green. The gate
is now unlocked.

INOUUASE
= =
e

N U ISSIEE:

Once the gate is opened,
both lights will illuminate red.

Once the gate is closed again,
both lights will turn off. §




®

OPEN THE GATE MANUALLY

© First, press the button in with

your thumb.
© While holding the button in, A
slide the latch with your finger. §j

The gate is now unlocked.

Once the gate is opened,

the gate will illuminate red.
Once the gate is closed again,
the light will turn off.




®

GATE CLOSURE ALERT SYSTEM

If the gate remains open for more than 10 seconds, a closure alert will play
3 times, and the light(s) will illuminate red.

If the gate remains open for an additional 50 seconds, the closure alert will
play 10 times.

After 60 seconds, the light(s) and the closure alert will turn off. Close the
gate to reset the light and closure alert system.

TO TEMPORARILY DISABLE THE ALERT:

Once the gate is
opened, activate
the manual latch or
the remote button.
The light(s) will
turn off to indicate
that the closure
alert is cancelled.

Close the gate
to reset the light

and closure alert l/

9: S
system. )\ J ’b o
%"T'OJ lt [ &Y

L]
5 |/

Loosen the screw
in the gate battery
compartment door.

Slide the switch to
the W\ position.

Replace the battery
compartment door
and tighten the
screw.

Note: To re-enable
the alert, slide the
switch to the &)
position.




®

TEMPORARY GATE REMOVAL

Press the gate
release button on
one side, then slide
the gate up and out
of the bracket.

While holding the
gate, press the gate
release button on the
other side.

Slide the gate up to
completely remove it.

L0
i —
[0




GENERAL INFORMATION

Always use this product where there is adequate ventilation. To prevent
overheating, keep the product away from heat sources such as radiators,
heat registers, direct sunlight, stoves, amplifiers, or other appliances which
produce heat.

FCC STATEMENT (UNITED STATES ONLY)

This equipment has been tested and found to comply with the limits for a
Class B digital device, pursuant to Part 15 of the FCC rules. These limits are
designed to provide reasonable protection against harmful interference in

a residential installation. This equipment generates uses and can radiate
radio frequency energy and, if not installed and used in accordance with
the instructions, may cause harmful interference to radio communications.
However, there is no guarantee that interference will not occur in a particular
installation. If this equipment does cause harmful interference to radio or
television reception, which can be determined by turning the equipment off
and on, the user is encouraged to try to correct the interference by one or
more of the following measures:

-Reorient or relocate the receiving antenna.
-Increase the separation between the equipment and receiver.
- Consult the dealer or an experienced radio/TV technician for help.

NOTE: Changes or modifications not expressly approved by the manufacturer
responsible for compliance could void the user’s authority to operate the
equipment.

This device complies with Part 15 of the FCC Rules. Operation is subject

to the following two conditions: (1) This device may not cause harmful
interference, and (2) this device must accept any interference received,
including interference that may cause undesired operation.

This device contains licence-exempt transmitter(s)/receiver(s) that comply

with Innovation, Science and Economic Development Canada’s licence-exempt
RSS(s). Operation is subject to the following two conditions: (1) This device may
not cause interference. (2) This device must accept any interference, including
interference that may cause undesired operation of the device.

L’émetteur/récepteur exempt de licence contenu dans le présent appareil est
conforme aux CNR d’Innovation, Sciences et Développement économique
Canada applicables aux appareils radio exempts de licence. L’exploitation est
autorisée aux deux conditions suivantes : (1) L'appareil ne doit pas produire
de brouillage; (2) L’'appareil doit accepter tout brouillage radioélectrique subi,
méme si le brouillage est susceptible d’en compromettre le fonctionnement.

Protect the environment by not disposing of this product or any
E batteries with household waste. This symbol indicates that this product
shall not be treated as household waste. Check your local authority for
BN [ ccycling advice and facilities.



Battery Safety Information

In exceptional circumstances, batteries may leak fluids that can cause a
chemical burn injury or ruin your product. To avoid battery leakage:

Do not mix old and new batteries or batteries of different types: alkaline,
standard (carbon-zinc) or rechargeable.

Insert batteries as indicated inside the battery compartment (+ and -).

Remove batteries during long periods of non-use. Always remove exhausted
batteries from the product. Dispose of batteries safely. Do not dispose of this
product in a fire. The batteries inside may explode or leak.

Never short-circuit the battery terminals.

Use only batteries of the same or equivalent type, as recommended.
Do not charge non-rechargeable batteries.

Remove rechargeable batteries from the product before charging.

If removable, rechargeable batteries are used, they are only to be charged under
adult supervision.

UNITED STATES
Fisher-Price, Inc., 636 Girard Avenue, East Aurora,
NY 14052. Consumer Services: 1-800-432-5437.

MEXICO

' Importado y distribuido por Mattel de México, S.A. de C.V.,
ey ] Miguel de Cervantes Saavedra No. 193, Pisos 10 y 11, Col.
Granada, Alcaldia Miguel Hidalgo, C.P. 11520, México, Ciudad
de México. R.F.C. MME-920701-NB3.

CHILE
Mattel Chile, S.A., Avenida Américo Vespucio 501-B, Quilicura, Santiago.
Tel.: 1230-020-6213.

VENEZUELA
Servicio al consumidor Venezuela: Tel.: 0-800-100-9123.

ARGENTINA
Mattel Argentina, S.A., Av. Libertador 1000, Piso 11 - Oficinas 109 y 111,
Vicente Lopez - Prov. Buenos Aires. Tel.: 0800-666-3373.

COLOMBIA
Mattel Colombia, S.A., Calle 123#7-07 P.5, Bogota. Tel.: 01800-710-2069.

PERU

Mattel Peru, S.A., Av. Juan de Arona # 151, Centro Empresarial Juan

de Arona, Torre C, Piso 7, Oficina 704, San Isidro, Lima 27, Peru. RUC:
20425853865. Reg. Importador: 02350-12-JUE-DIGESA. Tel.: 0800-54744,

E-mail Latinoamérica: servicio.clientes@mattel.com.

SOUTH AFRICA
Mattel South Africa (PTY) LTD, Office 102 13, 30 Melrose Boulevard,
Johannesburg 2196.



INFORMACION DE SEGURIDAD ACERCA DE LAS PILAS
En circunstancias excepcionales, las pilas pueden derramar liquido que puede
causar quemaduras o dafar el producto. Para evitar derrames:

No mezclar pilas nuevas con gastadas ni mezclar pilas alcalinas, estandar
(carbono-cinc) o recargables.

Cerciorarse de que la polaridad de las pilas sea la correcta (+/-).

Sacar las pilas si el producto no va a ser usado durante un periodo
prolongado. Sacar las pilas gastadas del producto y desecharlas
apropiadamente. No quemar las pilas ya que podrian explotar o derramar el
liguido incorporado en ellas.

No provocar un cortocircuito con las terminales.

Usar solo el tipo de pilas recomendadas (o su equivalente).
No cargar pilas no recargables.

Sacar las pilas recargables antes de cargarlas.

La carga de las pilas recargables solo debe realizarse con la supervision de
un adulto.

UNITED STATES
Fisher-Price, Inc., 636 Girard Avenue, East Aurora,
NY 14052. Consumer Services: 1-800-432-5437.

MEXICO

Importado y distribuido por Mattel de México, S.A. de C.V,,
ey ] Miguel de Cervantes Saavedra No. 193, Pisos 10 y 11, Col.
Granada, Alcaldia Miguel Hidalgo, C.P. 11520, México, Ciudad
de México. R.F.C. MME-920701-NB3.

CHILE
Mattel Chile, S.A., Avenida Américo Vespucio 501-B, Quilicura, Santiago.
Tel.: 1230-020-6213.

VENEZUELA
Servicio al consumidor Venezuela: Tel.: 0-800-100-9123.

ARGENTINA
Mattel Argentina, S.A., Av. Libertador 1000, Piso 11 - Oficinas 109 y 111,
Vicente Lopez - Prov. Buenos Aires. Tel.: 0800-666-3373.

COLOMBIA
Mattel Colombia, S.A., Calle 123#7-07 P.5, Bogota. Tel.: 01800-710-2069.

PERU

Mattel Peru, S.A., Av. Juan de Arona # 151, Centro Empresarial Juan

de Arona, Torre C, Piso 7, Oficina 704, San Isidro, Lima 27, Peru. RUC:
20425853865. Reg. Importador: 02350-12-JUE-DIGESA. Tel.: 0800-54744.

E-mail Latinoamérica: servicio.clientes@mattel.com.

SOUTH AFRICA
Mattel South Africa (PTY) LTD, Office 102 13, 30 Melrose Boulevard,
Johannesburg 2196.




INFORMACION GENERAL

Siempre usa este producto donde haya ventilaciéon adecuada. Para evitar
sobrecalentamiento, mantén el producto alejado de fuentes de calor, tales
como radiadores, registradoras de calor, contacto solar directo, estufas,
amplificadores u otro equipo que genere calor.

NOTA FCC (VALIDO SOLO EN LOS ESTADOS UNIDOS)

Este equipo fue probado y cumple con los limites de un dispositivo digital
de Clase B, segun esta establecido en la Parte 15 del reglamento FCC. Estos
Iimites estan diseAados para proporcionar una proteccion razonable contra
interferencia dafina en una instalacion residencial. Este equipo genera,
utiliza y puede radiar energia de radiofrecuencia y, si no se instala y utiliza
segun lo estipulado en las instrucciones, puede causar interferencia dafina
a radiocomunicaciones. Sin embargo, no hay ninguna garantia de que no
haya interferencia en una instalacion particular. Si este equipo llega a causar
interferencia dafina a la recepcion de radio o television, lo cual puede ser
verificado encendiendo y apagando el equipo, se recomienda tomar una de
las siguientes medidas para corregir el problema:

«Cambiar la orientaciéon o localizacion de la antena receptora.

« Aumentar la distancia entre el equipo y el receptor.

«Ponerse en contacto con el distribuidor o con un técnico de radio/TV.
Nota: Los cambios o modificaciones no expresamente autorizados por el
fabricante responsable del cumplimiento de las normas puede cancelar la
autoridad del usuario de usar el equipo.

Este dispositivo cumple con la Parte 15 del reglamento FCC. El uso esta
sujeto a las dos condiciones siguientes: (1) este dispositivo no debe

causar interferencia dafina y (2) este dispositivo debe aceptar cualquier
interferencia recibida, incluyendo interferencia que pueda causar que el
dispositivo no funcione correctamente.

cualquier tipo en la basura del hogar. Este simbolo indica que se debe
desechar apropiadamente de este producto. Consultar con la agencia
B |ocal pertinente en cuanto a informacion y centros de reciclaje.

E Proteger el medio ambiente no desechando este producto o baterias de



®

EXTRACCION TEMPORAL DE LA REJILLA

Presiona el botén
de liberacion de

la rejilla ubicado
enunladoy, a
continuacion,
desliza la rejilla
hacia arriba y afuera
del soporte.

Mientras sostienes
la rejilla, presiona el
botdn de liberacion
de la barrera en el
otro lado.

Desliza la rejilla hacia
arriba para quitarla
por completo.

-

[0




®

SISTEMA DE ALERTA DE CIERRE DE REJILLA

Si la rejilla permanece abierta durante mas de 10 segundos, una alerta de
cierre se reproducird 3 veces y las luces se iluminaran en color rojo.

Si la rejilla permanece abierta durante 50 segundos adicionales, la alerta de
cierre se reproducira 10 veces.

Después de 60 segundos, las luces y la alerta de cierre se apagaran. Cierra
la rejilla para restablecer el sistema de alerta de cierre y la luz.

PARA DESACTIVAR LA ALERTA TEMPORALMENTE:

Una vez abierta

la rejilla, activa el
pestillo manual o el
botdn remoto.

Las luces se
apagaran para
indicar que la
alerta de cierre se
cancelo.

Cierra la rejilla
para restablecer el
sistema de alerta
de cierre y la luz.

Afloja el tornillo de la
tapa del compartimiento
de pilas de la rejilla con
un destornillador de cruz.
Desliza el interruptor

a la posicion .

Cierra la tapa del
compartimiento de pilas
y aprieta

el tornillo.

Advertencia: Para
volver a activar la alerta,
desliza el interruptor

a la posicion &.




®

ABRIR LA REJILLA MANUALMENTE

@ Primero, presiona el botén con
el pulgar.

9 Mientras mantienes presionado
el botdn, desliza el pestillo con
el dedo. La rejilla ahora esta
destrabada.

Una vez que la rejilla se abra,
esta se iluminara de color rojo.
Una vez que la rejilla se vuelva
a cerrar, la luz se apagara.




®

ABRE LA REJILLA CON EL CONTROL REMOTO

@ Primero, presiona el boton y
el control remoto se iluminara
en rojo.

@ Mientras mantienes presionado
el botodn, deslizalo hacia abajo
hasta la parte inferior. El control
remoto v la rejilla se iluminaran
en verde. La rejilla ahora
estd destrabada.

Una vez que la rejilla se abra,
ambas luces se encenderan
de color rojo.

Una vez que la rejilla se
vuelva a cerrar, ambas luces
se apagaran.




®

INSTALACION DE LAS PILAS

Usa pilas alcalinas para Afloja los tornillos de las tapas de
lograr una mayor duracion. los compartimentos de pilas.
Inserta dos pilas alcalinas AA
(LR6) en el control remoto y tres
pilas alcalinas AA (LR6) en
la barrera.

Cierra las tapas de los
compartimentos de pilas y aprieta
los tornillos.

Si la puerta o el control remoto parecen no funcionar o no

funcionan correctamente:

- AsegUrate de que la puerta tenga energia activando el
pestillo manual.

-Saca y vuelve a introducir las pilas.

. - Verifica si la luz del control remoto se enciende al pulsar el
botdn. Si no se enciende, es hora de cambiar las pilas.

Si parece que el control remoto no funciona después de

reemplazar las pilas, es posible que deba vincularse con

la barrera.

- Quita las pilas de la rejilla (de la rejilla y el control remoto).

- Mientras mantienes presionado el botdn del control
remoto, desliza el botdn hacia abajo hasta la parte inferior
e instala las pilas.

- Abre la rejilla.

- Instala las pilas mientras la rejilla esté abierta.

- Si la vinculacion se realiza correctamente, se reproducira
un sonido y las luces se apagaran.

154/

®




®

INSTALACION DEL ADHESIVO REMOTO

Desliza el control l
remoto hacia

abajo sobre el
montaje.

Para retirar el control remoto

de la pared por completo:

1. NUNCA tires el montaje
hacia ti.

2. Sujeta el montaje con
cuidado para evitar que
se enrede entre tus dedos.
NO presiones contra
la pared.

3. Toma la lengUeta de la
tira adhesiva y ESTIRA
LENTAMENTE HACIA
ABAJO POR LA PARED
AL MENOS 30 CM hasta
el montaje y la tira
se suelten.




®

INSTALACION DEL ADHESIVO REMOTO

Antes de poner la tira
adhesiva, asegurate de que
la superficie de la pared esté
limpia y seca. Si es necesario
limpiar, hazlo suavemente
con alcohol isopropilico. No
uses limpiadores caseros. ©

Quita la Idmina de un lado
de la tira adhesiva y coloca
el lado pegajoso en la parte
trasera del soporte remoto,
tal como se muestra en la
imagen. Asegurate de que

la lenglieta de la tira esté ©
accesible para quitarla en
el futuro.

El control debe
instalarse en el

lugar que sea mas a@
conveniente para

acceder a él desde
ambos lados de la

puerta (p. ej., jamba
de la puerta).

Quita la ldmina del |
otro lado de la tira = ‘E

N
_Q

adhesiva y presiona BEL —Tille
el soporte remoto ) TH W
firmemente contra la

jamba de la puerta
por 30 segundos.
Luego, espera 1 hora
antes de continuar
con el paso 3.




| ®

INSTALACION DEL SUJETADOR REMOTO

Desliza el control [‘
remoto hacia

abajo sobre el

montaje. =

of
— |




| ®

INSTALACION DEL SUJETADOR REMOTO

Inserta un
tarugo de % X2

pared en cada

perforacion. -1,

. s
Martilla -
suavemente

cada tarugo de
pared hasta que

los extremos de

cada uno estén @P/ J ?J
nivelados con gl
la superficie de HEL /“‘;1 °

la jamba de |
la puerta.

R\

Inserta un tornillo
en cada perforacion INANINARINRIANANN

y apriétalos con un . I
Tornillo M4 x 30 mm

destornillador de
cruz. No lo aprietes
en exceso.




| ®

INSTALACION DEL SUJETADOR REMOTO

El control debe
instalarse en el -~
lugar que sea mas
conveniente para e
acceder a él desde

ambos lados de la

puerta (p. ej., jamba

de la puerta).
Coloca el montaje @E/ !
remoto en el marco ° |

I
de la puerta. : Tl
Con un lapiz, haz el
dos marcas a través
de los orificios de
los tornillos.

1

Advertencia:
Si lo estas
fijando a un
montante o a
una superficie
de madera, no
es necesario
seguir este
paso. Avanza al
paso 4.

Con una broca de 4,76 mm
haz una perforacion en cada
marca de lapiz que hiciste en
la jamba de la puerta.




| ®

INSTALACION DE LA REJILLA EN LA ESCALERA

Desliza la barrera en
Sus soportes. d

= -

9 a'

Asegurate de que
la barrera esté fija.
Empuja la rejilla
donde lo indican
las flechas. La rejilla
debe permanecer
firmemente sujeta.

>

L

I N [ I I I N ||

L
j/ AN




| ®

INSTALACION DE LA REJILLA EN LA ESCALERA

Coloca las
abrazaderas en el
poste de la barandilla
de la escalera.

1
) AN AN

Con la
herramienta para
la abrazadera,
ajusta ambas
abrazaderas,

de modo que

el soporte de la
barrera esté fijo D
en el poste de la °
barandilla de
la escalera.




| ®

INSTALACION DE LA REJILLA EN LA ESCALERA

Insertar un tirante
en cada perforacion. % x3

Martilla suavemente

cada anclaje de
pared hasta que los %

extremos de cada
uno estén nivelados
con la superficie de
la pared. —
I T——-
e
@‘m-—-‘
B \/

1 e

Tornillo M4 x 30 mm

=4




| ®

INSTALACION DE LA REJILLA EN LA ESCALERA

Coloca el soporte de la
rejilla en la pared y sobre
el piso.
Con un lapiz, haz tres
marcas a través de los
orificios de los tornillos.
D
O | ¢ == =——my

SO ————

’\
EA

Advertencia: Si lo estas
fijlando a un montante
en una pared o a una
superficie de madera,
Nno es necesario seguir
este paso. Avanza al ]
paso 6.

Con una broca de
4,76 mm (3/1§”), haz (#==- —
una perforacion en cada
marca de lapiz en $eee 2

la pared. y————
(Goma




| ®

INSTALACION DE LA REJILLA EN LA ESCALERA

Si se conecta en la parte superior
de las escaleras, mide la distancia

desde el primer peldafo hasta
la rejilla.

La distancia desde el primer
peldafo hasta la rejilla debe ser de
al menos 5,1 cm o mas.

~ e |
\ /4

—

n

Utiliza un nivel para
verificar que el
soporte de la rejilla
esté nivelado.
0
®§g

%
\
B

24




| ®

INSTALACION DEL SUJETADOR DE LA REJILLA

AR

'm\\'

e x 3

Tornillo M4 x 30 mm

Desliza la rejilla en : .
Sus soportes. ' H

w4 Ve dlls

Asegurate de que
la rejilla esté fija.
Empuja la rejilla
donde lo indican
las flechas. La rejilla

debe permanecer
firmemente sujeta.

<
]

=
‘nl™




®

INSTALACION DEL SUJETADOR DE LA REJILLA

Advertencia: Si

lo estas fijando

a un montante o
a una superficie
de madera, no es
necesario seguir
este paso. Avanza
al paso 13.

Con una broca
de 4,76 mm
(3/16”), haz una
perforacion en
cada marca de
lapiz en la pared.

=P

Insertar un tirante

Martilla suavemente
cada anclaje de
pared hasta que los
extremos de cada
uno estén nivelados
con la superficie de
la pared.

en cada perforacion.

E==m x3




| ®

INSTALACION DEL SUJETADOR DE LA REJILLA

Coloca el soporte
de la barrera
contra la pared
con el extremo
inferior en el
suelo. Utiliza
un nivel para
asegurarte de
que el soporte
de la rejilla esté
nivelado.

Con un lapiz, haz
tres marcas a través
de los orificios de
los tornillos.

—)




®

INSTALACION DEL SUJETADOR DE LA REJILLA

Inserta un tornillo
en cada orificio y
apriétalos con un
destornillador de
cruz. No lo aprietes
en exceso.

ANMANARRARARARNA RN

M

Tornillo M4 x 30 mm

ou{!’?

 SL T —

A —

Con una cinta
métrica, asegurate de
que la distancia hasta

el extremo de la 0
pared coincida con la —\
medicién del primer q
soporte de la barrera. .




| ®

INSTALACION DEL SUJETADOR DE LA REJILLA

Advertencia: Si lo
estas fijando a un
montante o0 a una
superficie de madera,
Nno es necesario
seguir este paso.
Avanza al paso 7.

Con una broca de
4,76 mm (3/16”), haz
una perforacion en
cada marca de lapiz [ .
en la pared.

Insertar un tirante

en cada perforacion. % X3
Martilla suavemente
cada anclaje de
pared hasta que los
extremos de cada
uno estén nivelados it = 0
con la superficie de
la pared.

i T S

(= cm—e




®

INSTALACION DEL SUJETADOR DE LA REJILLA

Coloca el soporte
de la rejilla
contra la pared
con el extremo 0
inferior en el ()
suelo. Utiliza {
un nivel para
asegurarte de
que el soporte
de la rejilla esté
nivelado.

o

Con un lapiz, haz
tres marcas a través
de los orificios de
los tornillos.

oU{'P,?




| ®

INSTALACION DEL SUJETADOR DE LA REJILLA

(s x 8

Tornillo M3.5 x 15 mm

| —r—

L)

Determina en qué
lugar deseas
instalar la rejilla.

Con una cinta 0
meétrica, mide la Z—
distancia hasta el D

(]

extremo de la pared.




| ®

INSTALACION DE LA ABRAZADERA DE LA REJILLA

Desliza la rejilla en __— :
sus soportes. - d

la rejilla esté fija.
Empuja la rejilla
donde lo indican
las flechas. La rejilla
debe permanecer
firmemente sujeta.

Asegurate de que % \

o '_-‘“[n_’.




| ®

INSTALACION DE LA ABRAZADERA DE LA REJILLA

que ambos soportes
de la barrera estén
nivelados.

Con un nivel, verifica % \

L ]
Con la herramienta para \
la abrazadera, aprieta las | F
cuatro abrazaderas, de ]
modo que los soportes
de la barrera queden fijos
en ambos costados de
la puerta o en los postes
de la barandilla de la

escalera. |
_— L (
@ 4

6




®

INSTALACION DE LA ABRAZADERA DE LA REJILLA

Coloque las
abrazaderas en la
puerta (o en la pared
o en el poste de la
barandilla de

la escalera).

Importante: Si la
instalacion se realiza
en una abertura

gue cuenta con una
puerta, asegurese
de que el botdén
esté orientado hacia
afuera de la puerta.

=

\

Bdtén Pue.rta

Coloque las
abrazaderas en la
puerta (o en la pared
o en el poste de

la barandilla de la
escalera).

Importante: Si la
instalacion se realiza
en una abertura

gue cuenta con una
puerta, asegurese
de que el botdén
esté orientado hacia
afuera de la puerta.

4&
ow"ﬁ

—

/

Boién Pue.rta

© 9




| ®

INSTALACION DE LA ABRAZADERA DE LA REJILLA

Coloca las
abrazaderas en
los soportes de
la rejilla.
Advertencia:
AsegUrate de
colocar las
abrazaderas
mas largas en el
extremo inferior
de los soportes de
la rejilla.

e e B 2

(i x 8

Tornillo M3.5 x 15 mm

e —=

J
[ A

=

[
NOT T T

e 75 [




®

ARMA LA REJILLA

(o x 1

Tornillo M3.5 x 15 mm

Si utilizas abrazaderas para instalar la rejilla, avanza
- a la pagina 13.

_E& Si utilizas sujetadores para instalar la rejilla, avanza a
la pagina 17.

dy e

Si la instalacion se realiza cerca

de una

escalera con un poste de la barandilla de la

escalera, avanza a la pagina 24.

o

®




ARMA LA REJILLA

Coloca el poste en el
extremo del soporte
ranura del costado de
la rejilla.

de montaje en la
Gira el soporte de

~,
N,
N,

emmcma.
-,
-
~

montaje hacia abajo
costado de la rejilla.

para ajustarlo al




~,
\\

emmm———
s,

R
WSO
\/
\ &'JJVY\E

P

e ——

ARMA LA REJILLA

montaje hacia abajo
costado de la rejilla.

Gira el soporte de
para ajustarlo al

x1

(e

Tornillo M3.5 x 15 mm

\
R —

e ——




ARMA LA REJILLA

Si es necesario,

agrega extensores

A \
=\
N ) _ Ga\l&)/ /

WG ‘
@% o
RV eI

(O o\ G
@Urwﬁ%\?ﬁ W\\\%@vﬂ
AN DAY
3 B O —
293080t n S585w a




®

AJUSTA LA REJILLA

Esta rejilla
encaja en
aberturas de
76,2 a 106,7
cm. Usa cada
extensor de
rejilla por
separado

o combinados.
iRevisa la
siguiente
informacion!

5,1cm

—— Se adapta —
a espacios de
79,4 cm - 84,5 cm

51cm 15,2 cm

F 3l
¢

ISie

N

T

o] O] | I |
|——— Se adapta——— 5,1cm 10,2 cm 15,2 cm
a espacios de
76,2cm - 79,4 cm
10,2 cm 15,2 cm
° |
—— Se adapta — ——— Se adapta —

a espacios de
84,5 cm - 89,5 cm

10,2 cm

U o o

15,2cm 10,2cm 5,1cm

a espacios de
89,5 cm - 94,6 cm

15,2 cm

°k

|——— Se adapta

a espacios de
94,6 cm - 99,7 cm

Se adapta

a espacios de
99,7 cm - 104,8 cm

Se adapta ——
a espacios de
104,8 cm - 106,7 cm

o

®




iHora de ensamblar!
Sigue leyendo o
escanea para ver un
video de instalacion
y ensamblaje paso
a paso.

fisher-price.com/assembly/GHP42



®

REVISA LA UBICACION DE LA REJILLA

Si se conecta en la parte
superior de las escaleras,
mide la distancia desde
el primer peldafo hasta
la barrera.

La distancia desde el
primer peldafo hasta la
barrera debe ser de al
menos 5,1 cm o mas.

Qe

—

Si utilizas
sujetadores para
montar, revisa si
hay un montante
en la pared.

Montante «----

Panel de ¢+¢¢-- oo
yeso

\

/ ///\

Cuando lo fijes a un
montante o a una
superficie de madera,

no debes perforar los
orificios previamente ni
utilizar anclajes de pared.

2
=




®

REVISA LA UBICACION DE LA REJILLA

Mide el ancho de
la abertura en la
que se instalara
la rejilla.

El ancho de la
abertura no debe
ser inferior a

76,2 cm ni superior
a 106,7 cm.

Si utilizas
abrazaderas, mide
también el grosor
de la pared, la
puerta o el poste
de la barandilla de
la escalera.

El grosor de la pared,
puerta o poste de

la barandilla de la
escalera no debe ser
inferior a 111,125 mm ni
superior a 161,925 mm.

11,125 mm-
161,925 mm

__
.
.
”
—

Si la instalacion
se realiza cerca
de una escalera,
puedes utilizar
abrazaderas en
el poste de la
barandilla de

la escaleray
sujetadores de
la pared.

Las abrazaderas no
deben utilizarse en
postes redondos de
la barandilla de la
escalera.




Soportes
de rejilla

@ x 10

Tornillo M3.5 x 15 mm

PIEZAS

Extensor
de 5,1cm

4

XA A )

I

MY

Tornillo M4 x 30 mm

Extensor
de 10,2 cm

Control Montaje
remoto remoto
Abrazaderas
P
Soportes Cubiertas Herramienta
de montaje del soporte de abrazadera
de la rejilla

X8

[ |

Extensor
de 15,2 cm

———— 1L

__---u-‘ia
———— T L LLLL

Im) x 8

Anclaje de pared de
7,6 mm x 25,4 mm




-
4
r-

15V

+ AA 1l X2
(LR6)

15V
+ A IIX3
(LR6)

®

ANTES DE EMPEZAR

Guarda estas instrucciones de referencia para el futuro, ya
gue contienen informacién de importancia. Descontinuar el
uso del producto si se dafa, rompe o desarma.

Se requiere montaje y configuracidn por parte de un adulto
para montar la rejilla y el control remoto e instalar las
baterias.

Herramientas necesarias para instalar el hardware:

Taladro eléctrico, broca de 4,76 mm, martillo y destornillador
de cruz (herramientas no incluidas)

Herramientas necesarias para instalar la abrazadera:

Destornillador de cruz (no incluido) y herramienta para la
abrazadera (incluida)

Herramientas recomendadas, pero no incluidas:
Lapiz, cinta métrica y nivel

El control remoto funciona con dos pilas alcalinas
AA (LR6) (incluidas).

La barrera funciona con tres pilas alcalinas AA (LR6) (incluidas).

Usa un pafio humedo para limpiar esta rejilla.
No sumergirlo.

A ADVERTENCIA

Se han producido muertes o lesiones graves en nifios, porque

las puertas no se instalaron de manera segura.

 SIEMPRE instala y utiliza la puerta tal como se indica con todas
las piezas necesarias.

*Se debe DEJAR de usar cuando un nifio puede subirse o sacar
la puerta.

*NUNCA la utilices para mantener a los nifios lejos de la piscina.

®



CONTENIDO
(1 JLUE ST 37 ] o 7.1 e —— 3
L — 4
€) REVISA LA UBICACION DE LA REJILLA .............. 5
(4 WL NIV N N 1 | S — 8
(5 L GUU NN R N e e e 9

@ INSTALACION DE LA ABRAZADERA DE
LA REJILLA ovoeoeeeeeeeessesseesssssssesssesssessessssnsssasssnes 13

Q INSTALACION DEL SUJETADOR DE
LA REJILLA ovoeoeeeeeeeesessessssssssesssesssessssssssnsssasssnes 17

@ INSTALACION DE LA REJILLA EN

LA ESCALERA ... nmann 24
Q INSTALACION DEL SUJETADOR REMOTO ......... 29
@ INSTALACION DEL ADHESIVO REMOTO ............ 32
m INSTALACION DE LAS PILAS ....cooeveevererererassnenes 34
@ MANEJA LA REJILLA ... neaains 35

@ SISTEMA DE ALERTA DE CIERRE
DE REJILLA voeeeeeeeeseessssessssssssssssssssssssssssssssssssnsesnes 37

@ EXTRACCION TEMPORAL DE LA REJILLA ........



GHP42

fisher-price
AR

PLATINU_M\

REJILLA DE SEGURIDAD PARA BEBE - MANOS LIBRES

©2020 Matel MANUAL DEL USUARIO 1102467752 2L

PRINTED IN CHINA

Remark:
Revision Date 1D# Changes
Primary - pr | 12/02/2020 | GHP42-2C70-1102467752-2LC NA

a 12/22/2020 | GHP42-2C71-1102467752-2LC update illustration and Copy




	GHP42-2C71-1102467752-2LC
	GHP42-2C71-1102467752-2LC_SP

